STUDER

Modification Kit CD-Drive C221 MKI

Modification Kit CD-Drive C221 MKI 1.747.506.00

Material list

Modification

1 CD-drive 1.747.102.00
1 Extender board 1.747.208.00
(1) Switch board 1.747.209.00
(Shipped with extender board, break off before installation)
1 Holder left 1.747.010.04
1 Holderright 1.747.010.05
1 Holder mounting frame 1.747.010.06
1 Springfastening bolt 1.747.010.07
1 Pressure spring D 4.1x16.0 1.010.220.37
2 Torx head screw M3x6 21.46.0354
2 Torx head screw M3x8 21.46.0355
4 Self tapping screw Torx D 3x10 20.24.8356
5 Flat washer D 3.2/7x0.5 23.01.2032
5 Lock washer D 3.2/5.5 24.16.1030
1 Cylinder head screw M3x20 21.53.0360
1 Description modification instructions (this paper) 10.27.4312

Remove old drive

Assemble new drive

Disconnect cables and remove complete old drive including the
front mounting frame [1].

(2 screws at front frame, 1 at rear end of drive)

Replace bolt and spring with new ones (mounted from bottom of
chassis).

Attach new mounting frame [1] with the 2 separate holders to the
drive, with the smaller U-shaped one [2] at the right, and [3] at the
left (Fig. 1). Use the M3x8 screws between holder and drive, and the
M3x6 ones between holder and frame (each with washer and lock
washer).

Mount the 2 new boards to the bottom of the drive (self tapping
screws) and connect the flat cable (Fig. 2).

Connect the disc tray motor cable (from the old drive).

Modify the disc motor cable (remove the connector at the drive
end, disconnect the blue and violet wires.

Solder the orange wire to the + terminal of the motor (red dot) and
the white one to its - terminal (black dot).

Modify the servo PCB 1.747.515.20

Install new drive

Edition: 27.09.99

Add 3 wires for the following connections
IC7pin7=>IC6 pin 6

IC6 pin5=» pin 3

IC 6 pin 3 =» D19 / Anode

and remove wire bridge W101.

Mount the new drive with the 3 screws and connect all cables.
Tighten the back screw first, and loosen it then until the drive is in
a even position and enough distance to absorb shocks.



Modification Kit CD-Drive C221 MKI STUDER

Fig. 1 ‘
|
3

Fig. 2
Prepared and edited by: Copyright by Studer Professional Audio AG
Studer Professional Audio AG Printed in Switzerland
Technical Documentation Order no. 10.27.4312 (Ed. 1098)
Althardstrasse 30
CH-8105 Regensdorf — Switzerland Subject to change.

Studer is a registered trade mark of Studer Professional Audio AG, Regensdorf

2 Edition: 05.10.98



STUDER Modification Kit CD-Drive C221 MKI

1.747.515.20 Servo Board

- MP 1

r_L.U L1 J_UJ_UJW_UJJMJ_U_U_IJJ

=3
3
z /§
:
P
©
H TR
P §f ‘ Lo o)
N + 3 | Lo (o |
— { evd ] !
"" N\ =
* LA
e - i H ®®)
o8 I [
z[ifg] o Beed ®; IQ ) ==
@ @

.

o | = g
= N@TL@D 2o = 06K
= ¢ wo ¢ ¢8) )
E — 2o zn =
3 o _."_';@ D& 8N S a
@ F= =
E E E l ! o Iﬁ. w7 _m‘ - @ som

R - BT ] e

3 2| 5

e . s 1S H ‘
A sl ok -SRI
= @ @ {oes | g g
@ 3 =
L = g El | e
(=] L ] &D EE
§

MP10(29x)

Edition: 07.10.98 3



T 1

07.10.98

Edition

Modification Kit CD-Drive C221 MKI

. . - N —— —— e G ———— ——— a—— SR —
02- 515 /v v[os| a4v0d 0AY3S I B - i
€ 40 T 29vd H3IAVId-03-CH ¥220 ! L H ) _ F
S, R
O al al ol LBS0 Sk O “ € = “ oz
- e (%) 09528
- . - _ _ AT~
HOLOW-3SI0-3ATHA "ANddNS ¥3MCd 0 . H
| - aezfh pid
261
; | 8YYYNT 0t e 9L
SEd 4 5
OIA AT+ Ty e w2 ! 020 b e 5 I v
SEd
e A2t T e 02602075 e I i3 | | A
Te, T vEd aryyns ‘ s a L
940 ong mF % 431 | n
M o =58 3 6ta ooy 1 D
N (SS3THSNUE) HOLOW YAvH | ”_”
164 [Ag] ST
— e —— — s — — 28y
e e e e e e o | nez o1
(1o1m encwsi) o I v %00¢
o it 644
P s HOLOW 3AIHC nsr
h T ) AZE+ AS+
S
ne|  sgyl 59 — e
zemw nozk S?um $ LIH3INN39
i rov
St
ina NL
€ vS 2
I “ INLEEWT ﬁ o | Vo
rs
02£020vS | L voovNT ) Toorns
4 N ! oS noozzes ara ¥ Cara¥
ALY sa F
R S
09
S9 %0?
ammomuqu ory 19 “quw Sﬁovm“
&d nooge= «QMN huﬂuw
@ ¢
T i
ng ng ng _
zomw.r nogreg FOOVNE ! [+ wwanvzo
] F
N1
7 €
A2+ sg dSLIENT
02£020¥5
€1d 0L
TOOYNT
va
S TETeTY MOT8 MOTS ST 3SN3 ML
2ot LAOFT" " T_AOOT O3 ANO ‘LVHOOS
oze0z0vs ~AO¥Z" " _A00Z HO4 ATNG ‘LYHOSZ
P(MQMMN T4 °
¥ 3 wonian ¥
Zaum :on“ Sovww ax e X J_|
3‘_. G‘ﬁ ua \V4 _
° o A0E2 _
AS BL MV 99 Q 9s mmﬁmh >Nwa _
v f i |
Jr— 3¢
K9 8 [— | Toom  seat 9010709 !
: + 3d
oze020vs ommowm«m F : [ Fed] vw.m o =5 u.
o] w] e - ViVt ol e o
ko) MOT ™ %O [19%5 NS 99 9g £ '
T eyl Trulivey E.m“m%m :oomm"yr«oo«z“:"oavzﬂ 1
E
O Pt 60 €10
( T |
DW NoGids  nooor so0smE ! _
3%) 013 2% i mcwm# s LH3MNE8
_U P & _ ﬂw 1 AE'Z 1 E2-TT
10 N s IGERER =]
W AG+ DI R AL'E : 95-EF
) 85 | —_ AB°0T : ET-2¥ AOST g2
02E020%S I—I NL AB°0T A3 41 AOST : T-G
[7)] 11d i 100YNT i ALE  :¥E-GT ALY i S-9
st L— o
o 4- 20 AHYONOD3S AHYHI¥Y
N ng HOLVWHOASNVHL 40 S39VLI0A
: ng H9 | ToOYNS %
w NOOT == nocvEs 1313] 3021 T LTH3NN39
~ NGH m«u.ﬂ ;:H. [ rov
10 R CTETeT o L wpg AddNS Y3aMmod
) ratense Leseitm |
I~ 02E020YS @
= Ld TOOYNS
_I. I}
L




